e

p e
"J/TEM aell/--’/ozooﬂo

% =3

‘1130

Matne Tool OPERATOA

Whhﬁs the accura
end standards ?

(A) #0.001 mm (B) +0.002 mm
(C) &0.0025

Smm (D) +0.0015 mm
&<
NH«a0 connects Delhi to
(A) Amritsar
(C) Shimla

¢y of measurement of

(B) Fazilka
(D) Chandigarh

Find out the one which does
that group.

(A) Gallon
(C) Quintal

not belong to

(B) Ton
(D) Kilogram

Which geometric characteristics is used

to define _the condition of an surface ¢
a revolution in which all points of ¢}
surface are equidistant from a com~
axis ?

(A) flatness
(C) eylindricity

(B) straight-
(D) roun?

Which of the following la)
considered as the meetit,
Saraswati rivers ?

.Haryana is
vlace of seven
(A) Brahmasarovar
(B) Sannihit Sarovar
(C) Damdama
(D) Badkhal

The Civil Code of 1804 in France was
introduced by

(A) Napoleon
(%) Meternic

(B) Louis XV1
(D) Louws XIV

The decimal number system is used in
our day-to-day life. It is known as

(A) Base-10 system

(B) Octa) svstem

(C) Base-2 svatem
&) Hexa decimal system

®

GA-o —@ﬂ

172020 (16)

31t W 1 A 7 aferem g 7
@ +0.001 fft  (B) +0.002 firfi
(C) £ 0.0025 fodft (D) +0.0015 famfy

NH10fegi=__ as=qd

(A) ST B e

(C) famen (D) =Erg

few e vt & e F s 5% I gH|
(Y RIC (B) &A

) fEEs (D) ey
@@h#@g@ﬁﬁwﬁﬁqﬁ‘—nﬁam%
%nugaamﬁﬁamﬁq-m%ﬁaﬁw
%wﬁg@mgﬁﬂmgﬂm%?
(A) H9G4T (B) Hrame

(C) seraaT W el
ﬁw%f@aﬁﬁgﬁmnnmaﬂmm?ﬁam
mﬁ#ﬁﬁmﬁmmmm% ?
(A) FEEUER

O afafes g

(C) 3ggm

(D) F=Ea

W 1804 1 At wfen s 2y
s ot 7

(A) Tiferas (B) T34 X V]

(O Tt (D) T XIV

TR 2 e 1 evmer st woelt 3w
ERIEEICIEEE FECTa® |

(A) JTER- 10 TN

(B) 3y=rard yorrs

(C) 3TaTR.- 2 o)

D WIS STaT Yorre
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10.

11,

13.

STl r

Chaudhary Devi Lal was arrested on
3% October 1942 for taking part in the

(A) Swadesht Movement

(B) Quat India Movement

(" Non Co-operation Movement
(D) None of these

Seventh perniods in the periodic table

contains elements.
(A) 8 (B) 18
) 27 (D) 32

The return stroke of shaper machine is
called

(A) ‘static stroke (@ dynamic stroke
() cutting stroke (D) idle stroke

—__ lake of Haryana was built
i 1947 when two small hillocks were
yoined.

(A) Damdama Lake
(B) Badkhal Lake

(( Hathni Kund Lake
(D) Karna Lake

Which of the following statement/s -

below 1s/are true about water poll’ ?
A. Ferulizer induces an increr . the
nitrate content of surface rs.

B. Major water polluters ar. .cather,
pulp and paper and textile
industries.

(A) Aonly

(B) B only

(C) BothAand B

(D) None of the above

What is the dimension of the imperial

standard vard of bronze ?

(A) 1inch square cross section and 38
inches long

(B) 0.5 inch square cross section and 32
inches long

(C) 2.5 inches square cross section and

2 inches long

(D) 3 inches square cross section and 36

inches long

e

8.

11.

@

172020 (16)

=l ST F 5 [, 19427

3 99 % e P P T
(A) W%sﬁm

(B ¥TTA BTEN SAETeH

(C) HGEA T

(D) 37 | Fr3 7

ST | o ETad Ed °

qTae |

(A) 8 (B) 18

W 27 Gy 32

Ffaerl 7= F1 A9EH gE

T 8 | .

) fer = By Tfasfics

(C) Fd1 BTF (D) TS T
e Bfmn d 1947 | 21 312 S

F1.HeA d FAd1 2 |

'@%zmsﬁa

&rama'm

(©) & F2 Hia

(D) F0i &=

STt WEW F ey | frefafaa § @ #R-m

FETIR Y

W IATE TS I F A1322 F A
EGEGIES!

B. &4 ¥idi YS5F 99, 3R FT
AN FIEIIAE | o

(A) e A

(B) ¥9@ B

(C) A 3R B2M

(D) 39T | F F13 T

e ) AT TF ATE AH FR 7
(A) 139 31 39 FIE A 38 39 a1
(B) 0.5 39 =7 3194 F12 3 32 39 =41
(Cr2.5 39 T Y F12 3 4239 &40

(D) 359 @7 9wy Fie 3N 36 9 &1
n
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14

13.

19.

21.

Faw Dewi Lal Stadium of Haryana s a
st stadwum for

A Multr-punpwose sport

(R Chess

(O Hockey

(M Foothall

Blecton Commiss:on of India was single
member tll

e\l 1961 (B) 1951
() 2000 Q) 1989

Small sized cvhindncal jobs on engine
lathe are held t‘_\

(\) three jaw chuck (B) mandre]

() lathe dog (D) collet

When Harvana was created. literacy rate
of ennire State was around
(A 85.6% (B) 40%
(1Y 20% (D 10%

B
Nobel Pnize in Literature 2020
awarded to

(A) Kanuo lshegureo (B) Arw doy
(O Lowse Gluck (D) None of the above
The Average cutting speed of high speed
steel dolls 1o machine stainless steel is
A 24 -0 ompm (B) 16- 27 mpm
Cr30-45mpm (D) 12-23 mpm

Tinya Ke Masmoom is written by
(A) Umrao dan
(B) Amir Khusro
(C) Alraf Hussamn Hasli
(D) Allabaksh

lim SInd8 - sin39

s a8

A 8 B) 2

() lD‘ l
- 8

bo | -

—4-

14.

20.

21.

1/2020 (16)

AT F A A A e
FrorF A E |
W FE-5EHE @
(B) 99

(C) f—'-ﬁl_

(D) FEA

WA F 79 FET A T O &
== Al |

(X) 1961 (B) 1951

(C) 2000 (D) 1989

t37 =z T B2 SEN Fl GAER

marn fFTIE g |
(& TR FEITF  (B) T3
(C) T2 =/ (D) FitcAe

S ERAT S T A §991 79 = FIERd &

SoEe T |

@ 65.6% (B) 40%

(C) 20% (D) 10%

HITEea 1 2020 F A= TR

eI

X FEIN TR (B) ety 07

© THF (D) ST 4 & 718 7

Wr&—dmﬁqa%qaanﬁma@w
(A) 24-40mpm (B) 16-27m

Vi & - pm
ECr3o-45 mpm (D) 12— 23 mpm
= = oem = o |
(A) IR IR
(B) =R g&a
(D) FzEEsT

lim Sin56-sindd
80 ) .

(A) 8
1
&3

(B) 2
o 1
S

Downioaded trrom www.cclchapter.com




SRR L ey

R e Tl e e

22.

24.

25.

26.

27.

28.

29.

Rake angles (in degree) of milling cutter of
cemented carbide used to mill Aluminum
alloys is given by

(A) 3—-6 BY 15-20

(€©) 10-20 D) 2-

Which among the following is a work by
king Harshavardhana ?

(A) Nagachandrika

(B) Ratnavali

() Avanti Sundan Katha

(D) Gatha Saptashan

If the distance between successive
compressions and rarefactions 18 Im
and velocity of sound 15 360ms ' then the
frequency 1s
(A) 180 Hz
(C) 120 Hz

(B) 45 Hz
(D) 90 Hz

The milling cutter used for producing
different shaped contours is known »

(A) angle milling cutter

(BY form milling cutter

(¥ staggered milling cutter
(D) end milling cutter

In 1739. Mughal empire lost its glory
because of this battle

(A) Battle of Mewat (B) Battle of Sonmipat
(C) Battle of Karnal (D) Battle of Panipat
The non-metals are either solids or gases
except which 1s a liquid.

(A) Chlorine (B) Bromine

(C) lodine (D) Astatine

Milling machining time (in minutes) is
given by

(A) T=Lxnf (B)Txn=fL
©rT=fLxn (D) T=Lxfn

The minimum age to become the member
of Lok Sabha s

(A) 25 years
(C) 35 years

(B) 30 years
(1)) 18 yvears

&~

23.

27.

172020 (16)

et fargsi ) frard & fero EEQ
itAFa waige & frard wdw @t B

(feftsd) R

(\) 3-6 G 1H - 20

(M 10-20 (D) 2-3

Frafaftaa 3 8 S -3 & o e R
[.'\\ Wﬁaﬂ

U wiEE!

(C) ¥ad! gl

(D) T TR

af2 Fhvw adftedl o el & s
1, sl s s an geod/a ! ?hangfa%
@ 180 & (B) 45 &l

© 1208 (D) 90 &

fafirs srfa i afttnan % foe forard wde
£l FEAE |

(A) Fivr fiEmrd d=

By &y foran wdw

(C) Fiya fard wd=

(D) 374 foed +d=

1739 H, 38 T F FI01 TS ST 4 30
Ta @t &

(A WEFIE  (B) WG F IR

Q) FAEFIZ (D) T IR
a:ra‘l:«m St U 74 R, rgd

T A 3§ & 71 N

(& TR mih:fh

(C) ER unqézrs:

ferars wefia awa (ffe #) R

A T=Lxnf (B Txn=fL

O T=fLxn (D T=Lx{/n

v T IR o R AN AR R 7
oxf 25 T4 (B) 30 ¥

(© 3594 (D) 18 T4
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34,

36,

36,

a7.

8

\ v pe of plate jig earrying o buek plnte
for support to thin nnd soft items, which
have a possibility of bonding or warping
i known ns

(N wandwich pg
(1) trunnion jig

() g g
Y index ng

Which of the following is known as '‘Brass

Town' of Harvana ?

(\) kundh (1) Kaithal

(" Narnaul (M Jagadhan
computers nre used as

a cost-otfective menns (or complex
stmulations,

(A Digital

(I Miero

(WY Analog

(M Hybed

A milling cutter of 100 mm diameter runs
at 210 vpm. Caleulate the cutting speed.
(13) 80 m/min

(1) 52 m/min

¢\ 66 m/man
W 76 m/mn

0 1
If tan A = = tnn B = 5 then A -

B ¥

(D) none

If X is brother of the son of Y's son, how
1= N related to Y ?

(\Y Son (3) Brother

WY Cousin (1)) Grandson

" % [
I'he binding material used in cemented
carbide 1ool iy

A graphite
((‘) cobalt

(B) earbon
(1) mekel

Regional Engineering Colloge, Kurukshetra
in Haryana was established in the year

(A) 1986 () 1973
WD 1966 (D) 1963

31.

32.

35.

36.

1/2020 (16)

s i fo o T o T TS TG
ﬁmaﬁm@m-ﬁzﬁ?ﬁ%.m
ggﬁmﬁamﬁﬁmamwﬁ%

o 3 fipe et 1 e TR el S 8 ?

(A) FEef (B) F41

(C) AT (D SaTd

2 1 I e FHEE F fe
AT -wrE ET ¥ 9 1 R S R

W fefeea

(B) HTEH

(C) TATEAT

”@jﬁﬁm

“+ fafgm #d9 1 100 mm =1, 210 rpm
o 312 @1 2 | 35 Fa4 Tt i o Fifsu)

(A) 66 m/min (B) 80 m/min
(L) 75 m/min (D) 52 m/min

1
qﬁtanf\zg.tan8=g?ﬁA+B=

w 7 ® X &
©) g- (D) =ié T

WX YFFAFERaERd, XF YD
FHAY B 7

(A) I3 (B) wré

(C) Ffem O wral Yl
zﬁﬁaﬁm@mﬁuﬁwm%f
(A) TETE Ay T ==
(C) FdTee (D) &=

wfearon 3 e 1 defla ST Fen, 6
T THE |

(& 1986 (B) 1973

(C) 1966 (D) 1963
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41

42.

A sphencal mirror and a than sphercal
lens have a fical length of =15 em The
mirror and the lens are Likely to be
(A) both concave
iB) both convey
(Cy the mirroe s concave and the leps
s cunvex
(I the mirrur s convex but the lens s
CuncCawy

What s the wp rake angle side rake
angle and front clearance of cemented
earbide tipped tools used to machine
cnpper metal 7
Ay or 0" 8§

) 4* 158 10

(B) 67 25* 200
(oo e

1+ the northern most district of

Harvana
(A) Panchkula
1) Kurukshetra

{B) Rewan
(D) Jind

Which of the following 1s the high
gallantry award for officers and
enlisted personnel of all military ¢
of India for the highest degre

in the presenos of the enem’

(A) Ashok Chakra

{B) Kirts Chakra

(C) Param Vir Chakra

(D) None of the above

1en
alour

The relationship betwoen cutting speed
and tool life can be exprossed as

A NT==C

(B)NT=C

tC) TVIV=C

(1)) none of the above

Whach nuthonty developed the Industnal

Model Township at Manesar ?

tA) Government of India

(B) Haryana State Industrial
Development Corparation

(C) Harvana State Inveatment
Promotion Board

(1)) Harvana State Urban Development
Authonty

.

(3

10.

il

43.

172020 (16)

nmmmwmmm
@ wen T 5 8 R edw o S
__ mAmrEne

(A) ZH SaE
(B) T 394

o oim siee st da e
(D) =1 397 1 AR e

atan urg # w3 & fav gyea e
Whifrga wratye e & o T
ared % w1 i wepw e wm R 7

(A) 0" 10r 8 BT 60 250 0

(C) 4* 16° 10° () 0 0 107
— mam~ faenh )

N T () Tl

(C) 55 () fim

g # i3 2 fivn ) T den & fo

WA o A= arnsdt & sfoerfeat afe
S A w1 ¥ fom wate fm goan
frafafara s dw-mp 7

(A) SITE TH

(B) 4 a%

¢ W AN a9

() T 8 @ #d
mmmmmtmﬂm

W swfisrm b

AN

BYNT=C

@CrT™iN=C

(D) 90T 9 87 %18 98

fen wfuwm oo aam 4 sharfrs afga
izt fasfra i 7

A} NRA ®&an

(O wframm o= fran yam wd

(D) i o= wd faws arfasmy
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44.

45.

46.

47.

48.

49.

Complete the series.

QN, RP, TS, WW, —— FH.
(A) YC (B) AB
(C) XB (D) AC

Calculate the limits of tolerance for a
95 mm shaft and hole pair designated

Hd.,
(A) 0.052 mm (B) 0.060 mm
(Cr 0.072 mm (D) 0.081 mm

According to 1S : 2285-1963 grade |
and grade 11, minimum thickness (t) of
nominal size 2000 x 2000 mm surface
plate is

(A) 24 mm
(C) 36 mm

(B) 30 mm
(M) 21 mm

How many times did Mr. Om Pro’

Chautala become the Chief Mir~ . of
Haryana ?

(A 1 (B) 3

) 2 (D) None of these

“The Human Cost of Disasters 2000 —
2019” Report is published by

(A) United Nations Office for Disaster
Risk Reduction (UNDRR)

(B) World Health Organization (WHO)
(C) Home Ministry, Government of India
(D) None of the above

Shiding and running fit is a
of fit.

(A) transition

—_— type

(B) interference
(C) clearance

(D) none of the above

47.

48.

1/2020 (16)

o, &b, s, ww, 2 FH |

(A) YC @ AB

(C) XB (D) AC

H 4, Amffe o 25 it TR 3 fo% F™
¥ for eeTefiet &1 &l T #Hifer |

@) oos2fft (B 0.060 fas

© o.o72fmft (D) 0.081 it

S - 2985.1963 T 1 31T TS 11 3TIAT,
T SR 2000 x 2000 ot 8 =
= HIETS () B

& 24 i
(C) 36 fodft

(B) 30 Tt
(D) 21 Tt

sft. i Wt Sreren fepat s wREn *
AT o 7

(A) 1 (B) 3

P T T 7

“2000 — 2019 IS 1 gHF g ford

O /YT TG 31997 1w =gfaor
FEEE (UNDRR)

(B) 13 T Fa (WHO)

(C) & WA, 9T TR

(D) 39 # & i 7

e 3 Sredi fsz

fhed |

(A) 3AaToT

(B) E&a

@y g

() :’Nﬁaﬂﬁﬁﬁéqﬁ

C) 2

__ YERH U
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63.

),

65,

follow g politician

W ho amonyg the
an Deputy Peime

ol Haryana m-r\_ml
Aty ol Lindin

(A Bhapider sungh Homdn
(b Rhegan | al

(Y Owy Pkt Chantaln
(AN Chaudhan Den lal

Furd the value of () mark.

4 N
- t"
-—‘.‘ 1 .:_ _\
BARY (U3 8
w7 (I G

s oan operation which vnablos
the production of a flat surfaee through
machining at the end of a job

G\ turmang (D tapping

() borng (I ey

The average of 7 pomitive intege 8,
The average of 3 amaller nun w 1Dh2
and the average of 3 largery mbors is
206, What is the middle numoer ?

() 170 () 17h

() 166 (1) 186

A milling operation i which o piir ol side
milling cutters s used for machining two
parallel vertieal aurfaces of n work ploce
aimultancously s known as

(A steaddle nlling (13 gy nfling

() wroove milling (D) face milling

This womun from Haryann was Indin's
1 woman Chief Ministoer

() Mavawati

(1 Snvopn Nadu

() Sucheta Kripalani
(M None of these

ho,

bl

b,

hb.

12020 (10)

fovwertenh e 10 v oo e sl B e
VI A S ) A e o) e e B 7
(A) W e )

(I Wena

() T e e

@ Sl el et

G (7))

o | o | o Lot .
gy
a6

TAYRL (I N
(7 439 0

L afrerer R wrd & st u
el A s ) e s & e
A am B

(A) TIEN
RELE

(13 dfon
Wy il

7 vervenss ot w1 shaa 178 B i @i
densi w sl 162 i g ag zm:lnm
sfea 2on & o e A ke 5 7
(A) 170 &> ) 1 i

> 166 (1) 186 AL
v i & Q) e vl grai o
aer walefv e o fero, oo e foamd adenl
a2 g e e R, ot
2! aed & |

(A T fand iy agfes

() wten fomr ) ek fee
aheon o) e nfeen awel) wdra afeen
gend)

(A) e

(1 wnfaeh g

W A e

() w2 ard el

Downioaded trrom www.cclchapter.com



517.

58.

59.

60.

61.

62.

Machinability index of copper 18
(A) 25% (B) 180%
(C) 7T0% (D) 55%

The ‘Goddess of Love and War’ for
Mesopotamians.

(A) Inanna
(C) Osinis

(B) Moon
(D) Nature

What is the diameter of end bars ?
(A) 26 mm (B) 30 mm
(C) 20 mm (D) 45 mm

During the rule of Chinese
traveller Xuan Zang visited Thanesar.

(A) Harshavardhana
(B) Vishnuvardhana
(C) Aurangazeb

(D) Akbar

A Medium Scale Integration (M-‘-": .nip

had about trans’ .s per
chip.

(A) 1001 @) 107

(C) 100 (D) None of these

A spindle which is used for holding bored
parts for machining their outside surfaces
on lathe is known as

(A lathe chuck  (B) lathe carriers
(C) lathe mandrel (D) lathe centres

What does the term Murrah (also known
as Black gold) mean in Haryana ?

(A) It is a type of ornament worn by
women in Haryana

(B) It is the local term for petrol

(C) 1t is the type of coal that is
abundant in Haryana

(D) It is a breed of buffaloes indigenous
to Haryana

62.

-10-

56.

57.

59.

1/2020 (16)

e 1 A Al AT &

(A) 25% (B) 180%

(C) T0% (D) 55%
STzt & fau @ 30 78 F1
(A) A (B) 91a

(& wfatE (D) TFid
shmgE m AT TR

(A) 26 fadi (B) 30 fadfi

(@ 20 foed (D) 45 Tt

B) faoEds

(C) ST

(D) FAFaT

e, Hifsam Fre S () o
(A) 1001 (B) 1020

(C) 100 (D) =i & #7é 7

T W A 7= F A F
Fiad arT F1 970 F4 % o yga

(A) @2 9% (B) @02 918k
C) mEHzE (D) T FE

gfeamn # g7 (for& =ren Jm o Fa s

I I A AL R 7

(A) IR Eframm § afeensii g1 98 S
TAT UF WEW T I 8

(B) Te T2 ¥ fem wurta ve @

(C) T2 UF FEE F1 FE & i hEn F
T A E R

@ Tz wfearm i 2t S T 8
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63.

64.

65.

66.

67.

68.

In

storage of input and output data is done

in Input Buffer and Output Buffer.
(A) Priority scheduling

(B) Round Robin

(C) Buffering

(D) Spooling

The type of chip is produced when cutting
ductile material 1s

(A) continuous

(B) discontinuous

(C) with built up edge
(D) none of the above
dx® -1
2x -1

lim

18

@ % (B) 2

1
C) 8 (D) 1
Which material is drilled using Type N
drills ?
(A) low carbon steel (B) hard material

(C) soft material (D) none of the above

A scans the hard disk for

fragmented files and brings all the
fragments together.

(A) Disk defragmenter
(B) Backup utility

(C) Antivirus

(D) Compression utility

The clamp consisting a number of sturdy
and rigid link .which are moved in a

definite manner to affect the required
clamping is known as

(A) hook clamp  (B) power clamp

(C) toggle clamp (D) wedge clamp

LeCh ﬂiilue the tﬂmp{‘rury

63.

64.

ab.

67.

=11~

Wpee——. N

172020 (16)

e | e ol st g
1 ST VST e a1 ST T
W foran Sran & )
(A) Wﬁ?ﬂmﬁ'ﬂ
(B) 138 TfaA
({‘A'E{tﬁﬁﬂ
(D) =gfem
S gFeTEe yarel w1 wdw e ®, @ seqrfa
fog =1 e @
(A) e
(B) Jfter
@aﬁ%ﬂaﬁ
vnymﬁﬁﬂiqﬁ

4x -1

2x -1~

liml
K—“;

@A) 1
2

(B) 2

@ |

N I & Sl 1 WA 0 g, B -3 e

Adefruamd?

Q¢ o= FEl e (B) e e

(C) 7R vard (D) I 0 3 8 el
_ wated vrgen ¥ foro ré fewaw W w8

m%aﬁtmﬂg@aﬁx@mm?l

A) fow dmia

(B) A yfeferd

(& TaTE

(D) e gfeferd

T foryas waret ol gg e &, shanfa s

F wfaa 0 3 for e fafeea @l & uw %
IWMUFHET@ICR,  FEEm R

(A) T T (B) afar #ehm
@) TE A (D) AgH wIW

) 8
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an Lndiaoe Byl T R AT R R A

SRTRTTTRY et of Ty nng

AR LITENY 0 Rewand

) g am (Y M

] .‘ll‘l‘ \
SIRID
(N N,

\Ni\ Mol
A\ Y
W O,

i

T0 0 S am e teasdo winme oy

U cernimies
VU cemented envbiile
GO mon fevvons comt ndloy s

NN fevronn vcant allova

Ths tomby i cnllod am P Mottt ey nnn
(A Tomb of g AL

U Tomb of Xhokh Cheohh

W Tomb ot o Mubaeade She

il
i

(A Tomb ol Hamen iy

The vent Palace of Maviwan the vesidunee
of the ruler

(RS

(1Y Ninoveh
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78.

79.

80.

81.

82.

R TH I ¥
Ty etters of the word WNA O LG R N
are i disordor of they nre arvangod in
propor order, the nonme of n et in formed.

What s tho il lottor of the word ?

(A) T () 1
(() N () W

High speed steel retain its hardnens ol
olevatod temperatures in the range ol
(A) H00C to 6HH0°C

(B) H60°C to 600°C

() 700°C 10 7H0°C

(D) 100°C" 1o AhOC

Who among the following s known ns
‘Hadi-¢-Haryana'?

(A) Shah Ghulam Jilani Rohtak:

(B) Shah Muhammad Ramzan Shnhid
(C) Sheikh Muhammad Turk

() Hazrat Kherushah

This crop 18 also known as the ¢ ‘
fibre, grows well on alluvial soil - (O
high temperature, heavy rai A nnd

humid climate. Name the crop which s
explained in the above sentences.

(A) Jute (B) Cotton
() Indigo (D) None of the above

The standard size of angle plate as per
1S : 2664 — 1963 of size no. 8 in LxBxH is
(A) 2000 = 900 x 2200

(B) 700 = 420 = 700

() 1000 % 600 x 1000

(1) 1600 = 900 % 1600

As per Haryana Panchayati Raj Act,

Gram Sabha must be held at lenst
times per year,

(A) five (B) three

(C) two (1) one

18-

@

79.

80.
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WSt W N A OT 1,16 1M A st an il
SR ARG ML T RTR R R UG LY
g A A A B, ol s v e st s
a1 i

“\} 'l‘ {I” II
“) N (M W
ey nfay e A moly 1 afvha amel

gt gare v i ) R

(A) HOOC A BH0°C

(1) 660°C 1 G00°C

(@Y 700°C 8 760°C

() A00°C # An0°C

faferfra it @ it )0 3 A0 8
s e
(A i e et
%}m ?;mrr (EIE ] [
@ e Mz 2

(1) Tt TR

g wHE & e 1 o) s s R, @
Sttt ga W amm e &, e e e,
wirf) ad st and sterny afeu, | S A
T S wHE W1 AW STy, |

T S Ay 1@

BEIS (D) 0 4 A g
<] T SRR GG 8 1 1S - 2604 - 1963
B SITHT ] X2 1 arEE rnr R

(A) 2000 x 900 x 2200
&) 700 x 420 x 700

(€Y 1000 = GOO = 1000
(1) 1500 % 900 ~ 1500

o ) vt i ¥ LRI

AR s il o e st |
(A) ui= a3y =
©ora () U

D
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84.

85.

86.

English Language

Read the following sentence O find out
whether there any error in it. The error,
if any, will be inone part of the sentence.
Mark of that part with error as your
answer.

Heldoesn't interferefwithout he 1s/ compelled
(A) (B) (0 D)

From the following question, a sentence
has been given in Active Voice or Passive
Voice. Out of the four alternatives
suggested. Select the one which best
expresses the same sentence in passive
or Active Voice.

Why do you waste time ?

(A) Why is time being wasted by you ?
(B) Why is time wasted by you ?

(C) Why is time been wasted by you ?
(¥ Why has time been wasted by yov '

In the following question, choo .ne
appropriate word from the given ,tions
to complete the sentence. The option
given are confusing words which may
have similar meanings. Select the

option which best fits the meaning of the
sentence.

She had the pain with great
dignity for years. =
(¥ born (B) borne
() bore (D) baar

Greenland is largest island in
the Atlantic Ocean.
(A) no article required
(B) an

(C) a

(D7 the

87.

88.

89.

90.
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et Pl =T Y ITE O fe@r g, T
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(A) 37 fam

(B) 37

(D) 0 & s A

et urht & Y e Fr R @ faww o
FHHI IYHE |
(A) TEe
@) drEa

(C) |
(D) 37 | %1 e

Sonee foren forll e 8 7

(A) T T 3w & e = v e
S |

(B) 59 31 M A F fere framd faere o
ER I 1R G

(A Torand =4l gra ¥ # 7 F
foreft 3= =afda 1 & = F fog
Ufed T 1 =Y FOA

(D) 30 | H13 T
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